* 6 @ % a Phép chia Da thtic

Tén: Ngay thang:
63x° — 582 — Tx+2 10x2 — 31x— 14
Tx—1 2x—17
18x° + 362 + 81x 43 + 82 —49x + 10
Ox 2x— 5
83 + 202 + 40x + 16 24x3 + 3x+ 27
4x + 2 3x+3
27x% — 63x+ 30 1223 — 352 +37x— 15
9%—6 4x— 5
12x3 + 24x% + 30x 3x2 — 24x +21
6x 3x—3
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Piém:
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wLed b

Phép chia Da thtic
Tén: Ngay thang: Diém:
63x> — 58x% — Tx+ 2 10x% — 31x— 14
Tx—1 2x—17
9% — Tx—2 S5x+ 2

18x° + 36x° + 81x

Ox
2% + 4x+9

83 + 202 + 40x + 16
4x+ 2
2%+ 4x + 8

27x% — 63x+ 30
9%—6
3x—5

122 + 24x% + 30x

6x
27 + dx+5

43 + 82 —49x + 10
2x—5
2% +9x—2

24x3 + 3x + 27
3x+3
8x° — 8x+9

1223 — 352 +37x— 15
4x— 5
33 — 5x+3

3x2 — 24x +21
3x—3
x—7
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